Question Bank For BDP Course
?fgﬁ? NTSHN (Elective Course)
FATANIIAIT ( Chemistry )

e 8 5\2&"1 A9 ( 13th & 14th Paper)
ECH-13&14: Organic Chemistry & Bio-Chemistry

Question 1

In this reaction the product is —
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Question 2

Three cyclic structure of monosaccharides are given below. Which of these are anomers ?
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Question 3

Which of the following statement is not true about glucose ?
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Question 4

Which of the following reactions of glucose can be explained only by its cyclic structure?
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Question 5

Sucrose (cane sugar) is a disaccharide. One molecule of sucrose on hydrolysis gives —
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Question 6



What is the product on hydrolysis of peptides?
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Question 7

Which of the following is a protein ? Glycogen, Amylopectin, Keratin and Lecithin.
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Question 8

Which one is not simple protein ?
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Question 9

An organic compound dissolved in CDCl; and placed in a
60 MH. NMR instrument. A signal is cbserved at &0 Hz
in spectrum series. What is the wvalue of chemical

shift (&) of the proton ?
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Question 10

What is UV region ?
UV < o126 3 2

Question 11

What is IR region ?
IR G ™26 5 2

Question 12

How many carbon numbers there in Petrol?
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Question 13

What is the use of Malachite green?
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Question 14

What will be the product on hydrolysis of all proteins?
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Question 15

The following carbohydrate is -
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Question 16

Which form of the glucopyranose undargoes
rapid oxidationat 1,2 —linkage by HIC.?
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Question 17

Which nameis appropreate forthe following
stucture 7
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Question 18

Predict the product for the following
reaction
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Question 19

Identify the product forthe following reaction
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Question 20

Thiz reactionis knovwnas —
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Question 21

What happens in Cope rearrangement?

(1Y R [{fEry [ 9062

Question 22

The specific rotation value of o-D-glucose
and §-D-glucose i +112% and ~197
respectively. When theyv dissolve in water
seperately . their specific rotation changesto

a fixedvalue+32.3% Whatis the percentage
composition of @ and 8 - D- glucosze in the
solution?
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Question 23

Arrange the compounds inincreazing order of absomption
for stretching vibration.

U b= 0= $=

Q) (if) (iii) (iv)



TEFEe dafE oV Ed Si6e (TEEE T1Ea

"‘uv-d:'q-}-]p- q:»*«r* "'~'|\_, ]9-
lj Ln) | 111) I iv j
Question 24

What will be the UV absoption value ofthe
following compound ?
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Question 25

Fats and oils obtained from living organism is known as ............

AT 8 TRET (ATF (T BT 8 (O HIST I ©IH B CeA?

Question 26

What is the use of Aldrine ?
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Question 27

Which of the following compounds does not give Biurate test ?
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Question 28

. Backelite is a polymer of which?
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Question 29

Of the following which one is classified as polyester polymer ?
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Question 30

Fluorescein is used as —
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